


3I£lI1~ P 
~1M uRiRl 

3. 1 ~h!,C1lqGt I 

~mar "(!q) m=rr cp"Rf ~ f61:a cf.> am ~ c=rezIT 

mr ~ aerr ~ c=rezIT mr Wo mr \1lTCft ~ I 

~ 3fmRr -at ~mar ~ CfCffl" 3~ cnt "WcTfu 
m arR -at ~ (}fm ~ I ~mar ~~f, ~~f ~ cBT 

~, ~ITa 3rr~, ~ITa 34Cb'lOI, :aifMcB1<'Ol !>lEP<'Ol1 ~ 

arR -at ~ (}fm ~ I 

"lf6 ~rra "(!Cl5 !J I ~,ru Ii:b fcJfu -R fc5m (}fm % I ~ c#t 

~IT~ am .I3fi "Rafef ~ ~ Gig()IiCl m cplffl acff m 
PcrmfefciT 1R PcPm (}fm ~ I ~ ~ITa ~ ~ -at m'<WCP 

:a 1J1<rl) m ~ -R Pcm1fefciT mr ~ ~ "4?: ~ "Q":HTQ 

t$m "lf6 ~ ~ fEn:! PcPm arzrr ~ I 

~ ~ITa -at cIT ~ ~ 3IT~ ~ (}fm 

3Cif<J1 -R "(!q) CbT ~ cpr ~~T m'<WCP 'l"lIJ1 <lfI zst ~ 

~ ~ crrm 3fR- ¢ CbT ~a1RG1 (~ ~) 
3f&fT4'"G1" ~ -R -qq;rm (}fm ~ I 3m -at "!>l"~Gf lPf m am· 

Gl-G1T ~ mr tRtlffl c;ft ~ 3m IDl<f '!!olictit m 3ITaR 1R 
Gl-G1T ~ mr gaarr mr ~ ~ I 

~ ~~T cpJ "Q"~Gf lPf mmnz-l -at 3fu ~ 
tRtlffl -at IDl<f Po1id81ct ~ ~ ~ mmnz-2 3m 

!J l~lrulCb ~ ~ Pcm-rfekit ~ ~ mmnz- 3 -at ~ ~ 

~I 
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3.3 ~~f 

~ ~m 01 61GFl1~1 c5 m ~ ~ ~ef 
61$&2\(1 c:igJIiCl c5 scft cp<ffi c5 Pcrmeff ~ ~ % Cl6 

Pcrmeff 150 % 1 ~m $T ega ~ 61GRi~1 150 % 1 

~ 61G1=li~ 1 01 -R 3rn:mfcrcrr ~~f c5 ~~~ ~~f 
~ ~ cpr ~ ~ 40-40 Pcw1fekit c5 <.IT ~ 

~~%I 

~ ~na c5 fffi! '"RCJITGf ~ 3IT~' ~ 

PcPm "JRn" 1 "RCJITGf ~ -ararm (fCfff ofre ~ ~ crccIT em 
~ 01 -mIT "JRn" 1 

* <.IT ~ ~ ~ ClCffi cp<ffi 8 c5 fcmTfekit c5 ttm;R CllSf 

~ cp<ffi 7 qft ~ -qif<ffi c5 ~ ~ c5 QI'<1icffi cpr 

fcmR fcpm "JRn" 1 

* 7cft 01 ~ Pcw1fekit cT; ~ ~ c5 Q 1 '<1145 45% -R 

60% e)- ~ SO Pcrmeff (40 ~, 3fR 40 cillR145Il!) 

~~I 

* ~ 80 fcmTfefm 01 -R 40 fcrnTe.ff Poi ci81 C1 ~ jf- 3fR 

40 fcmleff QI~lPI45 ~ 01, ~ <.IT ~ ~ ~ 1 

_-- 

RtElIC'li!l ffnm.ff ~ cflur Cf)T CiITcR' ~ 

tmI" -oorm 

.13fT "RCFr~ 61~~C'l C:lgCl"C1 ~lif51c=t ~ 20 20 40 

.13fT "RCFr~ 61~~ •.• C'I c:igClliCl ':)f,J QIC".II-IC15 ~ 20 20 40 

SO 
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3~mar ~ a1 ~TrEl "Q"~Gf q5)- 'l4 'l~ Gl I cf.> -q~~ 

~mf ~ cf.> "CPRUiT -a 3~a.Tfcrc:r 3f~ q5)- 3ncr~crcPcIT 

M % I ~ 3iCi'C'1dfCi UCG1T -a ~mf l!\cfdllctf1 Cf.)Rcol l!Ci 

-q~~dllctf1 Cf.)1'lCbl cf.> ~ "Cf.» 'l"lCft~GlI itcrr % I ~ <m~ 
Cf.) Rcffl "Cf.» a.fi 'll Cft ~ Gl I ~ $11 Po1 Cf.) 3f~ cf.> fFn! ParC1icr 

3ncr~~ itcrr % I ~ "CPT ~~ 3,2f %, 4RClRfCi 6To=rr I ~ 

qft '(!q) arrsrr a1 4RClcfGl 6To=rr ~ cpr '(!q) 31TC1"~~ ~ ~ I 

~ cf.> ~~ a1 '(!q) ~ ~ ~I 

* ~ (1967) 
H~ erg (Yf~ m ~ ~ M'l"lcBl ~ a1 4RClcfGl 

itcrr % I 3m ~ 4RClcfGt ~ cm-q m 31RTfcff "4""l itcrr ~ I 

1 1 

"Ct.>«IT % I 3m ~ a1 fGR:r "4""l :rnCDT Po1451 0 I itcrr ~ -m 
~~~%I 

~ ~ cf.> "Q"3-TTQ cf.> Q5ROT ufr &lCle>I'l 4RClRfCi 

itcrr % 3l'R M 'l"l Cf.)1 3,~ (fen d1T4"Gf fcpm \jffi'JT %, -m 
3fITJ3Rf ~ ~ "% I 
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dlPc:icbl Sbd1iCb- 3.4. 1 ~ Pcr3ITUfGf dlPc?iCbI 

wa:r ~ ~ c;rra:r ~~~ 

~~ ~~ICfI~ ~ "'tR 1. 

PcmITekr1 c5T ~ l)4fffi 3ITf.!3icf "'tR 2. 

3.5 3QCb'lOI 

~f.TCf 3f¥l"mar cit PcmITekr1 c5T ~ ~ cit 

~tlQfffi em ~ ~ ~ ~ 3QCb<;!OI ~ m ~ ~ 
~~T -R ~f.TCf >r~Gf ~ cpr 3Q 41 JI mxrr <J""RIT % I 

~ ~nEJ cit Pal itib1ct ~ '31' 3fR ~ 141fJI as ~ 

'~' ~ GlaIT ~ ~ ~ ~~T -R ~f.TCf lffiw cIT 
<JTCft I C16 lffiw 5 0 3fq;1 c5T eft I ~ lffi en cit fG1 CFG1 ifcbCi 

>!"CPR ~ >r~Gf ~ I 

~ PcP PcrwfeRit c5T ctlc$fas ~ 3fR:. qufcr m 

~ GlaIT c5T \1JTir ~ lffiw am qft <JTCft I 

~ ~mar ~ ~ scff coW ~ so fcrmeff 
~~f ~ m ~ ¥ crm ~I C16 3l~ ~ ~ cit 

fcom Cl"lClT ISO Pcrwfekr1 cpr cIT ~ ~ cit fcr~ 
fcom Cl"lClT en I 
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~ ~ ~ -al -R QI~'If(}ICf) ~ coT ~ 3TR 

\jQ IClI i!,!'8ft ~ ~~T ~~ 'l"lI<R<Jft ¢T 34 d) ()I coW ~ 

arzrr I ~ ~~T 1 0 c1lRlCf)13IT -al ~ <ll"m I 3m fG1<ti81Ci 

~ em ~ ~~T 10 CiIRtCf)I3IT -al 41~i!l9)'&1Cf) ~ -R 
~ <ll"m I 3ffi -al GlaIT ~ ctt 5 0 3m ctt uc;cp "4it~ 

efT ~ I 3m Ull<f ~oliq)) c5 3ITElR "tR 'l"liffi2lc$)i!l QWi!l1 

3'14 01141 ~ I cnm ~ -R >JT1<f <!!Ol icpl ctt gRGIT qft 

~ I cnm ~ c5 <yo Ii c5l ¢T Cff&fCf1T01" Q I <R lrol Cf) fcl'q Cl 01, 

3TR ¢1fci'C1Cf) ~ ~ 'l"le>Ii!lCiI -R cnm ~ qft gaarr 

qft ~I 

~-1 M~AM+lL:d}CJ 
M (ff5!l <R 101 = 

AM Cf)kq Ci Cff~ = 

f = ~ 

d Cf)kq Ci Cff~ -R ~'Ckl 01 = 

fd ~ 3lR ~:qClO1 = ¢T~ 

N 3'11 'lfffi iii ¢T-men- = 

C.1. q()lfci'("lil ¢T 3m = 

~ -2 

_-_ 
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S.D. = 

I. = 

2 Ljd = fcl 'CI C'l Gil m ~ "(!Ci 311 'lW at m <?_!o I G1 Q)C'l cpr 

men- 3TemT ~ X fcl 'CI C'l G12 

Ljd = 311'lRrt41 "(!Ci fcl'CIC'lc;ft m <?_!OIG1Q)C'l zsr -men 

3TemT ~ X fcl'CI C'l G1 

N = 

~-3 

ad = GT ~~f m (ffUl J11 an m 3rc=R c5T 1'I1J1lfUlC:o 

# 
a12 ~ ~~f m 1'I1J1lfUl45 fcl'CIC'lG1 cpr~ = 

a22 ¢ ~~f m lJIlJ1lfUl45 fcl'CIC'lG1 cpr~ 

NI "lJI"eTcff ~ ~ $451$41 c5T ~ 

N2 ¢~<J1 ~CbI$41 q5f ~ = 

~-4 

CR ¢1fGc:t45 ~ 

"lJI"eTcff ~~f cpr (ff&r.JfTCif = 

= 
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